Probability and Statistics
MTH202 Quiz 1 15 January, 2016

Solutions to Quiz 1

(5 marks) 1. Which of the following are correct identities for subsets A, B, C of a fixed set S7 Provide
examples if they are not correct or prove using truth tables or Venn diagrams if they are

correct.
(ANB)NC = AN(BNCQC)
(AUB)NA® = BNA°
Solution:
A B C D=ANB F=DnNC E=BNC G=ANE F=G
1 1 1 1 1 1 1 1
1 1 0 1 0 0 0 1
1 0 1 0 0 0 0 1
1 0 0 0 0 0 0 1
0 1 1 0 0 1 0 1
0O 1 0 0 0 0 0 1
0 0 1 0 0 0 0 1
0 0 0 0 0 0 0 1
A B D=AUB A° E=DNA° F=BNA® E=F
1 1 1 0 0 0 1
1 0 1 0 0 0 1
0 1 1 1 1 1 1
0 O 0 1 0 0 1
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